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¢ kJ * mol™'
3Mn0, (5) =M, 0, (s) +0,()
AH =a kJ * mol ' @

3Mn,0,(s) +8Al(s)=——=
9Mn(s) +4Al1,0,(s)
AH, =b k] * mol ' @
3MnO, (s) +4AI(s)

3Mn(s) +2Al1,0,(s)
a-b.c

AH = kJ * mol ™' (
)

Al

Al .
4A1(s) +30,(g)=—=2AL0,(s)
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AH, = -4c kJ * mol ®
Mn, 0,
Mn,0, @Ox3+Q®

9MnO, (s) +8Al(s)
9Mn(s) +4A1,0,(s) +30,(g)
AH, =3a +b kJ * mol @
0,(g)
0,(2) @+@
9MnO, (s) +12Al1(s)

9Mn(s) +6Al,0,(s)
AH, = ( -4c+3a+b) kJ * mol ™'
3
3MnO, (s) +4Al(s)

3Mn(s) +2Al1,0,(s)
AH,

AH == kJ * mol '
AH=(a +Lb —ic)k_] * mol '
373
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HZSO4(1)-503(5§) +H20(g)
AH, = +177.3 kJ * mol ' ®
250, (g)==250,(g) +0,(2)
AH, =a kJ * mol ™' @
2H2504(1):2502(g) +02(g) +2H20(g)
AH, = +550.2 kJ * mol ' ©)
a = o
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©) :
SO, (g) +H,0(g)==H,S0,(1)
AH, = =177.3 kJ * mol ' @
@Dx2+3 @

ZSOS(g)—2502(g) + 02(g)
AH, = AH, x2 + AH,

AH, = = 177.3 k] » mol ™" x 2 +
(+550.2 kJ * mol ') = +195.6 kJ * mol '
a= +195.6
3 (2016
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( 7ZnS)

27nS(s) +30,(g)=—==27Zn0(s) +250,(g)

AH, = =930 kJ * mol ™' D

2C(s) +0,(g)==2C0(g)

AH, = -221 kJ * mol ®

Zn0(s) +CO(g) Zn(g) +CO,(g)

AH, = +198 kJ * mol "' ©)
ZnS(s) +C(s) +20,(g) Zn(g)

+C0,(g) +S0,(g) AH=__ kJ*mol ',
O+®@

27nS(s) +2C(s) +40,(g)—
27n0(s) +250,(g) +2C0(g)
AH, = AH, + AH, @
@ +2
ZnS(s) +C(s) +20,(g)—
Zn0(s) +S0,(g) +CO(g)

AHS:AH';AHZ 5
o @ ®
CO @®+B

ZnS(s) +C(s) +20,(g)—

Zn(g) +CO,(g) +50,(g)

AH=AH, + AH,  AH,.AH,.AH,

AH= (=930 kJ * mol™") + ( - 221 kJ

«20 e
mol™) +2+(+198 kJ * mol™")
= -377.5kJ * mol '
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N, Cco
Cco
CO N, .

(1) ¢co o
2CH,0H(1) +30,(g)—
2€0, (g) +4H,0(1)

AH, = —1453Kk] * mol ™' ©)

2H,(g) +0,(g)==2H,0(1)

AH, = —=571.6k] * mol ' ©)
Co(g) AH = —283kJ * mol

CO(g) +2H, (g)=—=CH,0H (1) AH =
kJ * mol ™'

Cco(g) AH = -283 kJ * mol '

CO(g) +1/20,(g)==C0,(g)
AH, = —283kJ * mol ' ®

CO H, 3+®
CO(g) +3/20,(g) +2H,(g)—
CO,(g) +2H,0(1)
AH, = AH, + AH, @
O @
0, Co,
0, Co, @ - D12
CO(g) +2H,(g)=—=CH,0H(1)
AH =AH, - AH, 2
TAH=(AH, + AH)) - AH, 2
=(-571.6 J*mol ") +( -283 kJ * mol ")
—( -1453k] * mol ') /2
= -128.1J* mol™’
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